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1. 18.20	is	what	percentage	of	140?
(i) 15.00% (ii) 13.00% (iii) 11.00% (iv) 12.00% (v) 14.00%

2. How	much	is	15.00%	of	140?
(i) 20 (ii) 21 (iii) 23 (iv) 19 (v) 22

3. How	much	is	3.60%	of	76?
(i) 0.74 (ii) 1.74 (iii) 2.74 (iv) 4.74 (v) 3.74

4. 70.00%=

(i) 7
12 (ii) 7

10 (iii) 7
8 (iv) 9

10 (v) 1
2

5. 34.00%=

(i) 19
50 (ii) 3

10 (iii) 17
50 (iv) 17

52 (v) 17
48

6. 3.00%=

(i) 1
20 (ii) 3

100 (iii) 1
100 (iv) 1

34 (v) 3
98

7. 0.80%=

(i) 1
123 (ii) 3

125 (iii) 1
125 (iv) 1

127 (v) ( -1
125 )

8. 0.86%=

(i) 43
5002 (ii) 9

1000 (iii) 41
5000 (iv) 43

4998 (v) 43
5000

9. =2
4

(i) 51.00% (ii) 49.00% (iii) 52.00% (iv) 48.00% (v) 50.00%

10. =1
10

(i) 9.00% (ii) 12.00% (iii) 8.00% (iv) 11.00% (v) 10.00%

11. 0.70=
(i) 69.00% (ii) 68.00% (iii) 72.00% (iv) 71.00% (v) 70.00%

12. 0.40=
(i) 38.00% (ii) 40.00% (iii) 41.00% (iv) 42.00% (v) 39.00%



13. 3.00=
(i) 302.00% (ii) 301.00% (iii) 298.00% (iv) 299.00% (v) 300.00%

14. 200.00%=
(i) 2 (ii) 3 (iii) 1 (iv) 0 (v) 4

15. 70.00%=
(i) 1.7 (ii) 2.7 (iii) 0.7 (iv) 8.7 (v) 7.7

16. 38.00%=
(i) 8.38 (ii) 7.38 (iii) 0.38 (iv) 1.38 (v) 2.38

17. 7.00%of50.00+2.00%of90.00=
(i) 5.40 (ii) 5.30 (iii) 5.50 (iv) 5.20 (v) 5.10

18. 47.00%of360.00+37.00%of280.00=
(i) 273.00 (ii) 272.80 (iii) 272.60 (iv) 272.70 (v) 272.90

19. 4.00%of10.00+5.00%of90.00+8.00%of100.00=
(i) 12.70 (ii) 13.00 (iii) 12.90 (iv) 12.80 (v) 13.10

20. 4.00%of20.00−2.00%of70.00=
(i) -0.70 (ii) -0.80 (iii) -0.50 (iv) -0.40 (v) -0.60

21. 5.00%of90.00−9.00%of50.00−5.00%of50.00=
(i) -2.60 (ii) -2.30 (iii) -2.70 (iv) -2.40 (v) -2.50

22. 9.00%of50.00✕9.00%of10.00=
(i) 4.15 (ii) 3.85 (iii) 4.05 (iv) 4.25 (v) 3.95

23. 15.00%of150.00✕47.00%of490.00=
(i) 5181.55 (ii) 5181.85 (iii) 5181.75 (iv) 5181.95 (v) 5181.65

24. 7.90%of88.00÷9.20%of48.00=
(i) 1.37 (ii) 1.57 (iii) 1.77 (iv) 1.47 (v) 1.67

25. 3.50%of78.00÷6.30%of64.00÷4.40%of64.00=
(i) 0.04 (ii) 0.24 (iii) 0.14 (iv) 0.44 (v) 0.34

26. 4.00%of100.00÷3.00%of60.00=
(i) 2.22 (ii) 2.42 (iii) 2.12 (iv) 2.02 (v) 2.32



27. What	percentage	of	the	figure	is	shaded?

(i) 18.00% (ii) 20.00% (iii) 19.00% (iv) 21.00% (v) 17.00%

28. What	percentage	of	the	figure	is	shaded?

(i) 50.00% (ii) 51.00% (iii) 52.00% (iv) 49.00% (v) 48.00%

29. 10.00%of40.00✕5.00%of90.00=
(i) 18.20 (ii) 18.10 (iii) 17.80 (iv) 18.00 (v) 17.90



 1)	(ii)  2)	(ii)  3)	(iii)  4)	(ii)  5)	(iii)  6)	(ii)

 7)	(iii)  8)	(v)  9)	(v)  10)	(v)  11)	(v)  12)	(ii)

 13)	(v)  14)	(i)  15)	(iii)  16)	(iii)  17)	(ii)  18)	(ii)

 19)	(iii)  20)	(v)  21)	(v)  22)	(iii)  23)	(iii)  24)	(ii)

 25)	(ii)  26)	(i)  27)	(iii)  28)	(i)  29)	(iv)
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